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MERES t = 250 mm [iRY:h] DI6 @ 125 (P, = 1.27 % )
LR TAKEAEIZHESFHODEK nh = 1
L ECHEAAICIESBEODK nv = 1 XEEE FOFT/ BETETIE. “hv+17 &35,
REHAE AN A Qp = 2707.0 kN
B O3 R O B D BT E A Ad 2 - D13 Ad = 2.54 cm? ft = 29.5 kN/cm’
Ad-ft = 2.54 x 29.5
= 74.9 kN
B O # st As DB E i AVO 2 - D16 AV = 3.98 cm? ft = 29.5 kN/cm’
Z DO DBTE R AV 4 - D13 AVO = 5.08 cm ft = 29.5 kN/cm’
2 - D19 AVO = 574 om? ft = 34.5 kN/cm’
Av-ft = 3.98 x 29.5 + 508 x 29.5+ 574 x 34.5
= 465.3 kN
B Ot AT DB E TS AhO 2 - D16 Ah' = 3.98 cm’ ft = 29.5 kN/cm’
FOMDHEE DM ETE AR’ 8 - D16 AhO = 15.92 o ft = 29.5 kN/cm?
Ah-ft = 3.98 x 29.5 + 15.92 x 29.5
= 587.1 kN
(1) BEOREABOFMEEENICH T B85
Av -ft + Ah -ft 465.3 + 587.1
Ad -t = 749
+ 7 + 7
ho + 1o 100.0 + 180.0
= .1 kN = -QD = . = . .
819.1 2 S, Q > 7 < 850 2707.0 332.9 kN-cm ok
(2) BEOEAEOMMBEIFE—A > MMoxtd B85
(1 -14p)( Adft Avo-ft)+L|°P)2-p St
P2 4-(ng+1) ¥
74.9 25.0 -( 805.0 - 180.0 )2
= (8050 - 180.0 ) (———m + 117.4 )+ x 0.0127 x 29.5
) V2 ) 4x( 1 + 1)
h .
= 565,129 ;TO-QD o 1000 2707.0 = 135,350 kN-cm ok
(3) BOLTOMMEIFE—A > Moxtd B85
. . - 2
(h-ho) (DL L Ang gy 4 LMD o g
4-n,
~ . 14.9 25.0 -( 410.0 - 100.0 )2
= ( 410.0 - 100.0 )=( > 117.4 )+ = 1 x 0.0127 x 29.5
h 180.0 410.0

lo
>_° . 7 . - - .
278,484 = > I QD > x 305 x 2707.0 124,085 KkN-cm 0K



